F ol xy+x+y+1, X2 —xy+x-y ol FFLE 50
T-stofet,

B
ct



2. oA 2+ r-6° (x+a)(x+b) 2 AFEND wf, g0 TP
Ao Mee? (B a, b= BTl a>b

@ 2 A @ 3 M ® 47 @ 570 ® 670



3.

oh2 AlollA A+ B+ C 9 gk2?
(x+A)(Bx+3) =2x> + Cx - 12

@D -14 @ 0 37



4. ax®-18x+b 7t x+1 0 2x-11 2 Jxo]GolA uf, o + b 9] ZHS
“Fatozt,

R Eiatb=



5. Fo@A 2 tax-3 33 +20+b 0] FEA ASTEx+3 A,
Ta+b o] 27

@D -7 @ -5 3 -3 @ -1 3 0



6. OlAH ax®-19x+b7F (x-5) % (Bx-4) B AL L W, a+b
O] gk stofet.

aﬂia#—bzi



7. AAA 5x -2 7F ok 15x2 + 1dx + A ©] I5Y o, A 9] e
ok

® -8 @ - @ -2 @ 12 ® 27



FI

=

Lo
N
N
|
2
it
H
o

O|ZHA] ax? + bx+ ¢ & AF-2oll st=dl Hl4=

ZolA

2(x+1)(x=5) 7} F1Q1, AGole A4S FFE HY ZolA

(2x+5)(x = 3) °] =t
S %2+ Ax+ B E 27 A5 Bl AL
@ (2x-5)(x+2) @ 2(x+1)
@ (x-2)(x+2) @ (x-2)(x+3)

® (2x-4)(x+5)



© B o4t atab-2 2 % 2 o]},
© A 9 B9 F5%l A4 a? o|th

@ 0O ® 0,0

©a
® ©

® 6,0,

©



10. (x+1)2=5(x+1) +6 & AFE3foHa?

D (x-1)(x-2) @ (x+1)(x+2)
® (x-1)(x+2) @ (x+1)(x-2)
® —(x—1)(x+2)



11.

(x=y)(x=y+6)+9

@ (x+y+3)°
@ (x-y-3)2



12.

o) & Fofolet

Q-



13. 2 —4x-9? +4 & AFEfot=d AHEE 4=
=2t (P, a>0,b>0)

@ acx? + (ad + bc)x + bd = (ax + b)(cx + d)
© x*+(a+b)x+ab= (x+a)(x+b)

© a2 -2ab+ b2 = (a - b)>

@ a®-b*=(a+b)(a-b)

©® @+ 2ab + b = (a+b)>

=
ct
YR

=%



14, x?-9y? - 2x + 18y - 82 AFHal|olH?

D (x=3y+2)(x+3y+4) @ (x=3y+2)(x+3y—4)
@ (x+3y+2)(x+3y-4) @ (x-5y+2)(x+3y—4)

® (x=3y+4)(x+3y-2)



15. EHo] 72t MErt 24z x4y, 2x + 1 Q1 A AA Q] o7t
2x3 4+ 2x%y + Tx* + Txy + 3x + 3y o|th. AHHA Y g BA 2]
4ol & stoiet.

Yk
=%



16. Ax?+36x+ B = (2x+C)? oA 4= A, B, C 9] ?-& o14?

D 4 ® 9 B 81 @ 90 B 94



17.




ol g5te] shitol

Ho
=
Z AXNZLE L THE Aot} o] uf, AAIZY




19.

@ nxy?

= ]Egi st Yolal, D =BC ©
2 5= Yol HIx|29] o2 i
y ol thigh E2t= Lehfd?

@ 2nx
Y ® 27x%y






21. 95T &A1 o2 A2

O xB3-x2+2x-2=(x-1)(x*+2)

@ xy-x-y+1=(x-1)(y-1)

® xy-2x+y-2=(x+1)(y-2)

@ x+1)-4(x+1)=(x+1)(x+2)(x-2)

® ab+1)-(b+1)=(1-a)(1+b)



22. OEFA 4yt —5x2 + 12 ) Ao dxpAle] o
Aol 4419 72 o

® 2x+1 @ 2x-1

@ 6x4+1 B 4x-2

® 6x



23. g 4G4 F 310 -1 & thro] Wl A sH 7} obd AL

D 2 ® 4 A3 5 @ 9 B 10



24. (2x+1)(2x-1)-2(2x—-1)* 5 AMNIH Ax®> + Bx+C L uf, 24 +
B+ C 9| g7

D =5 ® -4 3 -3 @ -2 B -1



—-2a+3

25. a—l—l—\/_mﬂﬂ 1

o gre Fteer.

>R
=%



